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Q. S . S
y Poynting-vector Wattmeter works on . Question ID : 7368158202
An x 1 magﬂetic effect Status : Answered
S Chosen Option : 4
' 2. hall effect
< 3. induction effect
/< 4. heating effect
Q. If wewant to represent a relation between number of link currents and number . ]
2 of branch currents in a directional graph. we should use; Restion ID : 7368155184
Status : Answered
An 1. i 1
)\ & 1. reduced incidence B <o Option 3
A 2. incidence
W 3. tie set
< 4. cutset
Q. What will be the value of current IL through the resistor at t = 1 ns if TR(0)= 6 Ampere.
3 Question ID : 7368158192
" Status : Not Attempted
g l —— Chosen Option : --
An of 1 812 mA
s
X 2. 4.66 mA
K 3 456 mA
X 4 6.098 A
Q' What will be the rms value of a half wave rectified symmetrical square wave which is having current of 4 A7
4 Question ID : 7368158197
An J 1. 589 & Status : Answered
S ' Chosen Option : 1
X 20707 A
K3 645A
K4 1414A
‘g What is meant by zero initial condition for a system? Question ID : 7368158211
: . Status : Answered
An X 1. Zero input reference signal
S N Chosen Option : 4
/< 2. Zero stored energy
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#< 3. No initial movement of moving parts

v 3

System is at rest and no energy is stored in any of its components
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?5' Induction Type Instruments can be emploved for:

Question ID : 7368158203
An x L. both AC and DC Status : Answered
S Chosen Option : 4
/< 2. direct current only
/< 3. usually dc for heavy currents
« 4 alternating currents only
Q. . - ags . - . . -
> The electron-hole mobility ratio in Germanium is: Question ID : 7368158247
An x 1 (2.8):1 Status : Answered
S ( ) Chosen Option : 2
v22:1
X3 (1.2):1
Ka1:1
Q. Zener breakdown occurs when reverse bias of voltage is approximately: .
P Question ID : 7368158251
An x 1.3 LA Status : Answered
S Chosen Option : 2
X201-2V
V3 4-6V
Ka10v
Q. Which one of the following is the condition for Maximum power transfer in a circuit?
9 Question ID : 7368158188
An J 1. RL=Rs Status : Answered
S Chosen Option : 1
/< 2 RL=4Rs
# 3 RL=Rs/2
< 4 RL=2Rs
Q_ Match the folllowing Instruments given in column 1 with the respective quantities they read in column 2.
10 — SR Question ID : 7368158210
1. De'Sauty Bridge a. Capacitance Status : Answered
2. Potentiometer b. Low Resistance .
3. Megger c¢. High Resistance Chosen Optlon 4
4. Wattmeter d. Power
AS” /< 1 1-a. 2-¢. 3-b. 4-d
< 2. 1-d. 2-c. 3-b. 4-a
< 3. 1-d. 2-b. 3-c. 4-a
W 4 1-a. 2-b, 3-c. 4-d
Q.11 ot & ;
Wein's Bridge measures: Question ID : 7368158207
Ans 1. Power Status : Answered
Chosen Option : 3

X 2. Power factor
« 3 Frequency
X 4. Resistance
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Q. . . : 3
Ve AC Bridges cannot be used for the direct measurement of: Question ID : 7368158209

Status : Answered
An - X 1. loss factor _
S Chosen Option : 2

/< 2. capacitance storage factor

25 3. inductance
o 4. capacitance

1 . ' .

Q3 Shunt generators are generally used for; Question ID : 7368156238
An X' 1. arc welding Status : Answered
S Chosen Option : 2

' 2. charging batteries
/< 3. regenerative braking of dc locomotives

< 4. elevators

Q. FUTTAT 3 ZTEEET ¥ FI AT A P FAAC B Fw gom w7 tion ID : 7368158230
14ﬁa§m%,a¥$aﬁﬁaﬁﬂmﬁﬁﬁrmm%mm%? R~ g

L. Status : Answered
A;'” “ VAV B =1 Chosen Option : 1

X 2 TFI-TEX HEUT
X 3 T-T FFic g
K4 YY gaus

1Q5~ Deflection produced in Moving Iron Instruments is: Question ID : 7368158208

An x 1. Status : Answered
S Chosen Option : 4

inversely proportional to rms value of operating curent

52

proportional to rms value of operating current

K3

nversely proportional to square of rms value of operating current

v

proportional to square of rms value of operating current

0. ; R ; . ination?
> What will be the resultant capacitance of the given combination Question ID : 7368158199

Status : Answered
-I- J. Chosen Option : 3
1mF 2mF i

L TITT
X 2. 0.48 mF

v 3 10mF
X 4. 0.67mF

An X' 1. §mF
S
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Q. Ifthe slip in an induction motor is 0.25 and the synchronous speed is 600 rpm.
17 the motor speed (in rpm) would be:

An v 1 450

< 2 125
< 3750
< 4900

Question ID : 7368158240
Status : Answered

Chosen Option : 1

gradeup

Q. Which of the following statements regarding a shell type transformer is INCORRECT?
18

AS” < 1 It provides shorter magnetic path

« 2. Natural cooling is quite good
p 3

It gives better support against electromagnetic forces between current carrying transformer

r

Magnetizing current is lesser as compared to core type

Question ID : 7368158226
Status : Answered

Chosen Option : 2

Q. The detrimental effects of armature reaction can be controlled by:

19 1. Increasing the length of air gap

2. Using commutating poles
3. Increasing the cross-section of pole pieces

Which of these is/are incorrect?
A X1 Only1l
« 2. Only 3
<3 2and3
X4 land2

Question ID : 7368158235
Status : Answered
Chosen Option : 4

gd Find out the value of i.

150hm

: . W -
*1
5A 3 i i“ ohm ,L 24

An X L 7985A

X 2 5000A
X 3 2880 A
v 1375A

Question ID : 7368158183
Status : Answered

Chosen Option : 4

Ql-z If there were no copper losses in the motor:
AS” 7< L. rotor runs at normal speed
X< 2. rotor does not run

#< 3. rotor runs at infinite speed

« 2. rotor runs at synchronous speed

Question ID : 7368158244
Status : Answered

Chosen Option : 3
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Q2 Which of the following oscillates Question ID : 7368158214 gradeup
1. Opeﬂ ioop system Status : Answered
2. Closed loop system Chosen Option : 2
Which of the following is/are correct?
Ans x 1 Ol]l}’ i
#< 2 Both1and2
#< 3. Neither 1 nor 2
« 2. Only 2
‘2?3; For normal biasing. the emitter junction of BIT has: Question ID : 7368158255
An 1w hich resistance Status : Answered
S X o gh Chosen Option : 2
/< 2. high resistance
W 3 low resistance
/< 4. no resistance
?4 S 1 . = o R Question ID : 7368158218
An 1. m =THT Status : Answered
S X 2 Chosen Option : 4
X 2 Fres & auas
v 53
3 ISIET F JTY FAIT 7 3Tl & FIEAT
X o Torrear & 9T s SwATRT fr wEa
;?5- For elements having energy gap more than 5 eV, act as: Question ID : 7368158246
An X 1. Semiconductors Status :Answered
S Chosen Option : 2
« 2. Insulators
#< 3. Superconductors
X 4. Conductors
Sé A DC generator efficiency is maximum when: Question ID : 7368158234
An X 1. Constant loss — Variable loss=1 Sta_tus ‘Answered
S Chosen Option : 3
< 2. Variable loss — Constant loss=1
' 3. Variable loss — Constant loss=0
& 4 Variable loss + Constant loss=1
27 The magnitude of critical density in a superconductor depends on: Question ID : 7368158222
An X 1 temperatme Status : Answered
S . Chosen Option : 2
v &3
Both temperature and magnetic field strength
p gk}
temperature for some time and then on magnetic field strength
/< 4. magnetic field strength
5/7/2016 6:19 PM
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Q. According to Super position theorem., a Voltage source of 0 V can be replaced by a: gradeUP
28 Question ID : 7368158186
An ?(" 1. 5V Status : Answered
S Chosen Option : 4
/< 2. Cannot be replaced
#< 3. Open circuit
« 4 Short circuit
) % " : 14 3 % -
;?9 What can be done in order to prevent Creeping in Energy meters? Question ID : 7368158204
An “ 1. Status : Answered
s 2 : ; ; ; : Ch Option : 1
Two diametrically opposite holes are drilled in the disc osen Bpfon
X 2. Creeping can't be prevented
< 3. Friction is over compensated
/< 4. Disc is made to run where there is no current
Q. What do we call an externally introduced signal which affects the controlled output?
30 Question ID : 7368158213
An x 1. Feadback Status : Answered
S Chosen Option : 1
v 2. Stimulus
/< 3. Gain Control
X 4. Signal
'3 - - . . - . .
Q1 A Varactor diode finds its applications in: Question ID : 7368158253
1. Low Noise Parametric Amplifier Status : Answered
2. Frequency Convector Chosen Option : 1
3. Harmonic Frequency Generator
Which of these is/are CORRECT?
An W 11, 2and3
X 2 Only 2
X3 land2
X 4 2and3
' ; ; Gow =
82 Which of the following increases Steady State Accuracy’ Question ID : 7368158212
An J 1. Inteerator Status : Answered
S - Chosen Option : 4
/< 2. Phase Lead Compensator
< 3. Differentiator
/< 4. Phase Lag Compensator
Q. Which of the following is not an example of Intrinsic semiconductor? )
33 Question ID : 7368158217
An x 1. Germanium Status : Answered
S Chosen Option : 4
& 2. Selenium
/< 3. Silicon
o 4. Argentum
5/7/2016 6:19 PM
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3(?4 In a Common Base Conﬁgm‘atlon, BIT has input impedance Question ID : 7368158259
Wwl.  etponjemenance: Status : Answered
An : - Lo
1. Chosen Option : 2
" # 1 high, high
« 2. low. high
< 3. low. low
X< 4. high, low
Q. For the measurement of high resistances. following methods are used: )
35 Question ID : 7368158206
1. Loss of Charge Method s A d
2. Direct Deflection Method ta.tus -Answere
3. Substitution Method Chosen Option : 1
Which of the following is/are correct?
An o 1 1and2
# 2 2and3
< 3 Only 1
X 4 1and3
Q. Which one of the following condition is true about parallel RL.C circuit? .
36 Question ID : 7368158200
An X1 TR =V/Xc.Ie=V/R. IL = V/XI Status : Answered
S ) ' Chosen Option : 3
K2 VR=IR,VL=LXL,VC=L Xc
V3 IR=V/R Ic=V/Xc, IL = V/XL
X 4 IR=V/XL, Ic= V/R, IL = V/Xc
3 £ . L
Q7 Carbon electrodes are used in: Question ID : 7368158221
1. GLS lamps Status : Answered
2; DI}( cells Chosen Option : 1
3. Arc furnace
Which of the following is/are correct?
Ans X1 1,2and 3
v'2 2and3
X 3 land3
X 4. Only 1
O Friaiter # ¥ w7 ¥ F v Rl Fw i # geet Question ID : 7368158201
38 Ao wwer #2 '
An y Status : Answered
s X 1. H‘ﬁ o Chosen Option : 4
< 2 gefy IR F TATHET ITHIOT
X s fFerEs IuRToT
v i GHFTIAT IIHIOT
Q. Superconductors now a day found their application in various fields. This is due to the fact that they:
39 Question ID : 7368158223
. Status : Answered
An X1 manufacture bubble memories _
S Chosen Option : 1
/< 2. generate regions free from magnetic field
o 3. generate very strong magnetic field
/< 4. generate electrostatic field
5/7/2016 6:19 PM
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4(120 Materials with low resistivity do not find their applications in: Question ID : 7368158216
An J 1 heatiﬂg element Status : Answered
S Chosen Option : 1

/< 2. transformers

7< 3. house wiring

/< 4 transmission lines
Q. In armature winding. the distance between the segments to which the ends of coils .
41 are connected is? Question ID : 7368158231
An x 1. resultant pitch Status : Answered
S Chosen Option : 3

X 2. front pitch

« 3. commutator pitch

/< 4. back pitch

. Iftwo or more components are connected in they have the same potential difference (voltage) across
4 HRETRnE Question ID : 7368158198
An J 1 parallel Status : Answered
S Chosen Option : 1

/5 2. opposite
/5 3. parallel-series
X 4 series
33 In electric bl-”ak‘mg of shunt motors, plugging is used to control. Question ID : 7368158241
;‘ Eml]lt'mg i;;ss Status : Answered
. Rolling mills )
i Chosen Option : 2
3. Elevators P
The incorrect amongst these is/are:
An X 1 Only 3
K2 land2
« 3. None of the other options
K 4 2and3
Q. : : » . ; W
o ‘Which of the following generator has zero percent regulation? Question ID : 7368158238
i Status : Answered
An X 1. Both Under compound and Flat compound
S Chosen Option : 4
X 2. Under compound
X 3. Over compound
o 4. Flat compound
Q. If the output power of a transformer is 600 W whereas the losses are 200 W. . )
45 the efficiency of the transformer will be: Question ID : 7368158227
An Status : Answered
n [i}
s x 1. 50% Chosen Option : 3
X 2 41.4%
vz 75%
X 4. 66.6%
Q. The point of intersection of two or more branches in any network is known as: .
46 Question ID : 7368158182
An % Status : Answered
" & L Branch
5/7/2016 6:19 PM
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J 2. Node Chosen Option : 2 |
< 3. Twig
# 4. Path
Q. Out of the following. what happens to the overall gain of the system of a closed loop .
47 control system with positive value of feedback gain? Question ID : 7368158215
An Status : Answered
s x 1. No effect Chosen Option : 2
< 2. Increase
W 3 Decrease
& 4. Increase or Decrease
Q. Inan induction motor, at speeds near to synchronous speed. the torque-speed and torque-slip
A8 curves are approximately: Question ID : 7368158243
An x 1. parabolas Status : Answered
S o Chosen Option : 3
< 2. ellipses
/< 3. hyperbolas
o 2. straight lines
Q.4 ; B
9 FETisa  controlled device. Question ID : 7368158258
Ans x 1. current Status : Answered
; " Chosen Option : 4
X 2. resistance
/< 3. impedance
o 4 voltage
st The following figure is the Speed-Current characteristics of: Question ID : 7368158224
Status : Answered
Chosen Option : 4
z
-
&
Armature Current (Ia)
AS” /< 1. Differential Compound Motor
< 2. Cumulative Compound Motor
< 3. Shunt Motor
v 4. Series Motor
Q. Ifthe alternating current equation is i=64.8 sin423t. What will be the average current?
51 Question ID : 7368158196
An J 14121 A Status : Answered
S ' Chosen Option : 1
X2 6745A
K3 509A
X 4 5678 A
5/7/2016 6:19 PM
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5Q2 The real name of MOSFET is IG FET because the gate here is:
A /< 1. biased

v 2. insulated
/5 3. open

< 4. inductive
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Question ID : 7368158257
Status : Answered
Chosen Option : 2

5Qé Compound generators are used to supply power to:
An X 1 incandescent lamps
/< 2. railway circuits

< 3. elevator motors

v )

railway circuits, incandescent lamps and elevator motors

Question ID : 7368158237
Status : Answered

Chosen Option : 4

Qf’ In a semiconductor. Drift current is due to:
An X 1 volume gradient

X 2. diffusion of charge

/< 3. concentration gradient

¢ applied electric field

Question ID : 7368158250
Status : Answered

Chosen Option : 4

Q. Assertion A: Copper Losses are small in Squirrel cage induction motors.
55 Reason R: Overhang is less and space factor is better in Squirrel cage induction motors.

AS” X 1 R is correct but A is not correct

< 2. A is correct but R is not correct

v 5

A is correct and R is the suitable reason for it
r 8

A i3 correct but B is not a suitable reason for it

Question ID : 7368158245
Status : Answered
Chosen Option : 3

Sé In a BJT. collector region width is maximum when it:

1. collects maximum number of charge carrier

Asn /X 1 Only 1 is correct

/X 2. None is correct
+ 3. Both 1 and 2 are correct
< 4. Only 2 is correct

Question ID : 7368158254
Status : Answered

Chosen Option : 3

5Q7- How many crystal systems are known till date?
An of 1.7
S

X212

X3 6
< 410

Question ID : 7368158219
Status : Answered
Chosen Option : 1

5/7/2016 6:19 PM
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Q. The generated emf per parallel path in armature of a DC Generator is:

%8 1. Directly proportional to flux

2. Inversely proportional to number of poles
3. Directly proportional to rotational speed of armature

Which of these is/are correct?
An XK1 2and3
< 2 Only2
X3 land2
v 4 1and3

ol

Question ID : 7368158232
Status : Answered
Chosen Option : 4

gradeup

Q. For a Lap wound generator, the number of parallel paths in armature is taken to be:
59

An X1 4

S
X2 2
< 3. number of poles/2
« 2. number of poles

Question ID : 7368158233
Status : Answered
Chosen Option : 4

gd Iron losses in a transformer is a sum of:
AS” /< 1. copper loss and hysteresis loss
7< 2. constant loss and copper loss

' 3. hysteresis loss and eddy current loss

r

copper loss, eddy current loss and hysteresis loss

Question ID : 7368158228
Status : Answered
Chosen Option : 3

gl- Find the Thevenin's voltage Vth across 2 ohm resistance.

M 5 ohm

AAN I AAN

An X1 8908V

X2 3455V
X 3.4.778V
V42511V

Question ID : 7368158187
Status : Answered

Chosen Option : 4

82- A series or parallel RLC circuit is said to be over damped if:

An Xll o= mn
S

V2 a>on
K3 o< on
X 4 20=omn

Question ID : 7368158194
Status : Answered

Chosen Option : 2

5/7/2016 6:19 PM
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2-?3; Find out the node voltages of the given circuit.

S5oh
ohm ik

iy
u(tr) iﬁmm S“"’“ 34

An X 1Va=0V,Vb=120V

X2 Va=1.89V,Vb=16V
X3 Va=0V.Vb=0V
4 Va=15V.Vb=133V

¢

Question ID

17368158181

Status : Answered

Chosen Option

4

gradeup

Q. A 12-pole induction motor has a frequency of 60 Hz, Its synchronous speed would be:
64

An o 1. 600 rpm

S

75 2. 480 rpm
/< 3. 660 rpm
/< 4. 500 rpm

Question ID :

Status
Chosen Option

7368158242

:Answered
11

The current in a circuit follows the relation i = 200sinot. If frequency is 50 Hz, how long will it take for the current to
rise to 100 A?
5

An /X L 3.33ms

X 2. 598 ms
< 3 0.32 ms
W 4 1.66 ms

Question ID :
:Not Attempted

Status

7368158195

Chosen Option : --

Q. TEWET H FHR F8 &
66 arr 21
An X 1.
" A TEEEY & e Aot § #w e
v 2

fezwe gaweT & TuiRa o ¥ #9s o
53

faezae grawe & Fuifia soft § et 8

p
fema= gmwet § FufiE 4o @ &3 o1 e aw

# HfT FL 3 TS T

Question ID
Status
Chosen Option

17368158229
:Answered
4

Q. In the given Delta-wye conversion. Find the value of R1, R2 & R3.
67

2 ol

= ——
3 g — %

/';'” X< 1 9/12. 9/6. 9/8

X 2. 6/9,12/9, /8/9
W 3. 8/9. 6/9, 12/9

Question ID :
Status :
Chosen Option :

7368158190
Answered
3

5/7/2016 6:19 PM
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X 4. 9/6.9/12. 9/8
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Q. For ammeter shunts. which one of the following is not a possible requirement?

68 Question ID : 7368158205
An j 1. Status : Answered
S r ] Chosen Option : 1
It should have high thermal automotive force P
x>
Tt chanld fasmr mrant trithmrt aveaceitra tamnaratiira roea
< 3. Its resistance should not vary with time
X 4. Its temperature coefficient must be low
(% Distribution Transformers: Question ID : 7368158225
1. Have good voltage regulation Status : Answered
2. Are designed for small value of current Chosen Option : 2
Which of these is/are CORRECT?
AS” X 1 Only2
/X 2 Both1and2
v & Only 1
< 4. Neither 1 nor 2
7 ; ; : I
Qo A tunnel diode is fabricated from: Question ID : 7368158252
Ans x 1. Ge Status : Answered
. y Chosen Option : 3
X 2 si
X 3. GaAs
W' 4 Ge or GaAs
~ InFET. the np region between source and gate is: Question ID : 7368158256
An x 1. forward biased Status : Answered
S Chosen Option : 2
X 2. forward or reverse biased
v 3. reverse biased
< 4 unbiased
% What will be the number of tie set currents in the given eircuit? Question ID : 7368158185
Status : Answered
Chosen Option : 1

5/7/2016 6:19 PM



14 of 18

Q. According to Tellegen's theorem, which one of the following is correct?
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73 Question ID : 7368158189
. Status : Answered
An o 1. T power delivered =X power absorbed _
S Chosen Option : 1
/< 2. T power delivered =K/E power absorbed
/< 3. T power delivered =1/ power absorbed
/< 4. T power delivered =2xX power absorbed
% Assertion A: Si can be operated at high temperature Question ID : 7368158249
Reason R: Energy gap of Ge is more than Si Status : Answered
y g Chosen Option : 2
AS” « 1. A is correct but R is not correct
x>
A is correct but R is not a suitable reason for it
X s
A is correct and R is the suitable reason for it
< 4 R ig correct but A is not cotrect
% The energy which any electron possesses at 0 K is: Question ID : 7368158248
An J 1. Fermi level Status : Answered
S Chosen Option : 2
/< 2. Valence energy
/< 3. Exergy
/< 4. Conduction energy
Q. DC bias is adjusted greater than its cut-off value so that the output current . ]
76 flow for less than half of the input voltage cycle. in: Question ID : 7368158260
A Status : Answered
n H .
N /< 1. Class AB amplifier Chosen Option : 4
/< 2. Class A amplifier
X 3. Class B amplifier
o 4 Class C amplifier
Q. Assertion A: Separately excited generators are used in Ward Leonard ion ID : 7368158236
7 System of speed control but self-excited are not. Question ID :
. ) Status : Answered
Reason R: Self excitation is unsuitable at lower voltages. )
Chosen Option : 3
An X' 1.
S : 3 : 5
A is correct but B is not a suitable reason for it
& 2. R is correct but A is not correct
W3
A is correct and R is the suitable reason for it
< 4 A is correct but R is not cotrect
Q' In a RLC circnit Inductance is 20 mH and capacitance is 200 micro Farad. Find the resonance frequency of the circuit.
78 Question ID : 7368158193
Status : Not Attempted

AS” < 1. 1000 rad/sec

X 2. 250 rad/sec
' 3. 500 rad/sec
< 4. 50 rad/sec

Chosen Option

5/7/2016 6:19 PM
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Q' For the given circuit find the value of v at t =12 ms, If current is given as i=10te”(-100t) A. (Where L=25 mH).

79 .
o B T
+ v —_—

AS” X 1 34.09 mV

X 2. 0,987 mV
V'3 -15.06 mV
X 4 87.99mV

ol

Question ID

Status

17368158191
:Not Attempted

Chosen Option : --

gradeup

08 Frae SieRIeT F1 TIST F4T 872

Question ID : 7368158220
Ans Status : Answered
1. E]i-ljéﬂ E‘!Ilﬂ[
x LY Chosen Option : 3
7< 2 TREr T T g3 FIIAT
3 B T e G gam FET Soieh
X 4 /TS TE
Section : General Knowledge
Q. SriLanka is separated from India by a narrow channel of sea formed by the Pallk Strait and:
1 Question ID : 7368158261
An J 1. Gulfof M . Status : Answered
S Chosen Option : 4
& 2. Gulf of Gibralter
# 3. Gulf of Kuch
# 4. Gulf of Sinhala
Q. Who won the title of Australian open tennis tournament in women’s singles category in 20167
2 Question ID : 7368158269
An X 1. Ganie Micza Status : Answered
S Chosen Option : 2
« 2. Angelique Kerber
< 3. Venus Williams
#< 4. Maria Sharapova
% fefoies & & Hia o FoA1 A9 H T FHE T 87 Question ID : 7368158268
An x 1. STeF [JOUIES] Status : Answered
s o Chosen Option : 3
X 2. edr (Calories)
v = thaH (Fathoms)
X 4. 30T (Ergs)
Q4 The Indian constitution came into force on: Question ID : 7368158266
An 51 26 Jan 1951 Status : Answered
s - Chosen Option : 3
X 2 26" Jan 1955
v 3. 26™ Jan 1950
X 4.26™ Jan 1949
QS- Param Yuva II. designed by C-DAC in PUNE is a type ofl Question ID : 7368158267
An X 1 Space shuttle Status : Answered
S Chosen Option : 4

7< 2. Bullet train

5/7/2016 6:19 PM
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X 3 Missile gradelp
« 4. Super computer
% bk m Re A0 EiSRA I N I o Question ID : 7368158262
oEig o g 47
An - Status : Answered
. 1 Rgrae arfare Reafeasa st Chosen Option : 1
X 2. fEgFa wrafore e st
X = Rgram wrafoee Rategeadr st
X 4 TEgEarer wrefore YEe et
% 2016 &1 &, AT WA FAE G R e w2 Question ID : 7368158270
An 1 % a Status : Answered
S x ¥ Chosen Option : 4
X2 F I 9@y T
X 5. TFETE AT
o TR FAR
O fadehr Rfemw & wefe ereg FERA 1 9 &7 & Question ID : 7368158264
An : v : Status : Answered
S x ' Chosen Option : 4
X 2 B TFASS NEgee T
X 3 e TR T vae
4 B TFEES eIl Tae
% Which Indian state has a separate constitution? Question ID : 7368158265
An o 1 Tammu & Kashmir Status :Answered
S Chosen Option : 1
7< 2. Madhya Pradesh
#< 3. Tamil Nadu
/< 4. Manipur
?0 First official census in India was conducted in the year Question ID : 7368158263
An x 1. 1927 Status : Answered
S Chosen Option : 2
X 21910
X 3. 1887
v 4 1871
Section : Reasoning
Q. R, S, M g7 G ATHF TN HIE ¥ A1 AIfLariys @aed 6 o= & .
1 %trua;aﬂaﬁsrﬁua:a@i'a: e T ¥ . Question ID : 7368158274
i Status : Answered
¥ G 7 ¥ 5 T PrifE 9 U o fRa, R e meEe Chosen Option : 4
fEems 7 v Fer coEae B F Fr w6 o = oames E
s o do i s Few AR M @ des A
@ e A FEEe e o9 & @
R T 9= F4T0:
5/7/2016 6:19 PM
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. ¥ IS AaTERE
X2 s
X3 oEh
X 4 FrareTTeTES
% éﬂ?{ . & Vi e e o o W He Question ID : 7368158273
An 1. ﬁ_q;n_ Status : Answered
S J Chosen Option : 1
< 2 serar
X 3 e
X+ Tideg
Qak X, QFH ANE AFZHFE M ZEFao S, TAXFE ] .
3 & feT &7 Question ID : 7368158271
An x 1 Status : Answered
s - g Chosen Option : 3
X > 7t
v 53 2‘:?1’
& 4 FEr (Aunt)
Q. =fr vw fafdre &g 9w F GUN Fr HVO fr@m = &, = IBU & &1 i
4 Question ID : 7368158278
feT ) Status : Answered
A :
sn J L HAT Chosen Option : 1
/< 2. HEN
< 3 NOT
X 4 RAT
Q. Inacertain code. KNOWLEDGE is coded as 256535475 how is GENERAL coded in that code?
5 Question ID : 7368158277
An x 1. 7555031 Status : Answered
S ) Chosen Option : 3
X 2. 7545003
v 3 7555913
X 4. 7969393
Q. 4. C &1¢ & =t it 9y & & T 3w AW e foaw Fr AW E, AW ion ID - 7368158276
6 o 3w T A 1 o e A g A R i Question B
Ny Status : Answered
Asn x 1.23 fﬁﬁ'&l‘r Chosen Option : 2
v 2. 25 FTEar
X 2. 26 FfHar
X 4 40 FfE
Q7 Identify the similar set of numbers. Question ID : 7368158272
(64, 81. ]44} Status : Answered
Ans x 1 (464., A67. 434(}) Chosen Option : 2
v 2. (256, 324, 361)
X 3 (21,34, 14)
5/7/2016 6:19 PM
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Q. Select from the given choices the letter sequence that completes the following sequence in an order.
g aa__b_aa__ab

AS” X 1Laaabb

v 2 abbbb
X3 bbaa
X4 abab

Question ID : 7368158275
Status : Answered

Chosen Option : 2

Q. A 3T B ¥ s TuTdr SF ¥ AT Ol A o7 o fem # 3 R

¥ o & woam A A g 4 B Twar ¥ B aRem Rr # 5
fra. s & T I F gE 3 A e 3w A SR B
o ¥ B T

A X4 R
X2 5 R

X 38 e
v g A

Question ID : 7368158279
Status : Answered
Chosen Option : 4

% Determine the pattern and fill in the missing number.
3,8,18.38. __ .158
A of 178
X 2. 65
X 3. 60
K 4 67

Question ID : 7368158280
Status : Answered

Chosen Option : 1

5/7/2016 6:19 PM



Q gradeup

SUPER

Gradeup SSC & Railways
Super Superscription

Features:

1.18+ Structured Courses for SSC & Railways Exams
2.550+ Mock Test for SSC & Railways Exams
3. Separate Batches in Hindi & English

4. Mock Test are available in Hindi and English
5.Available on Mobile and Desktop

Gradeup Super Subscription, Enroll Now


http://www.gradeup.com/

